
Lecture 13 - February 25

General Trees

Linear vs. Non-Linear Structures
General Trees: Terminology
Generic TreeNode in Java



Announcements/Reminders

• Survey on Makeup Lecture for ProgTest1
• Assignment 3 (on linked Trees) to be released
• WrittenTest guide to be released
• This week’s office hour: 3pm, Wed



Running Time: Arrays vs. SLL vs. DLL
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Trees

1. General Trees

a 2 . Binary Trees (BTs)
b 3

. Binari Search Trees (BSTs)
4. Balanced BSTs

C
5. Priority Queues

6
. Heap
1
. Heap Sort



Linear vs. Non-Linear Structures
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- root
- parent
- children
- ancestors
- descendants
- siblings

General Trees: Terminology (1)
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- subtree

General Trees: Terminology (2)
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- subtrees are the subproblems for you to make recursive
calls on.
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- external nodes
- internal nodes

General Trees: Terminology (3)
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- edge
- path
- depth
- height

General Trees: Terminology (4)

CardsErnesto
C .

↳
path (vs E

,
C
> D)



d=0

d= 1

d=z

d = 3

depth of a mode? # edges (parent links) from 1 to root.

height of a tree :

max depth of descendants of itscoot.



d= = Height of tree rooted at David :
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